Name Date Class
TEKS A4.A

@ Practice B
Factoring by GCF
Factor each polynomial. Check your answer.
1. 8¢+ 7c 2. 3n®+12n° 3. 15x° — 18x

4. -8s* + 20 - 28 5. 6n° + 18n* — 24n 6. -5m* - 5m® + 5m°

7. A ball is hit vertically into the air using a paddle at a
speed of 32 ft/sec. The expression —16 + 32t gives
the ball's height after t seconds. Factor this expression.

8. The area of Margo’s laptop computer screen is
12x% + 3x in®. Factor this polynomial to find expressions
for the dimensions of her computer screen.

Factor each expression.
9. 3m(m +5) +4(m +5) 10. 16b(b—-3)+ (b—3)

Factor each polynomial by grouping.

11. 2x* +8x° + 3x + 12 12. 4n* +3n°+4n+3
13. 10d? — 6d + 35d — 21 14. 12n®* = 15n*> - 8n + 10
15. 5b* —15b°+3 b 16. £ -5+ 10 - 2t
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Practice A
[ %W Factoring by GCF

Factor each polynomial. Check your answer.

1. x* + 5x 2. 5m® + 45 3. 15y° + 20y° — 10
A X +5) 5 (m®. ) 5 (ap+ay’-2)
4. 10y + 12)° 5. —12t° + 6t 6. 6x* + 15x° + 3x?
2)° (5 + 6y) 6t(=2t* +1) 3 (2x° +5x+1)

7. A golf ball is hit upward at a speed of 40 m/s. The
expression —5t* + 40t gives the approximate height

of the ball after ¢t seconds. Factor this expression. 5t(=t+8)
8. The area of the Hillen family’s television screen
is 3x* + 24x in?. Factor this polynomial to find
3xand x+ 8

expressions for the dimensions of their TV screen.

Factor out the common binomial factor in each expression.
9. 4d(d+2) +9(d+2) 10. 12(x — 5) + 7x(x — 5)

(d+2)@d+9) x-502+7x0)

Factor each polynomial by grouping.
1. n° + 30" + 4n+ 12

(n® +37"2) +(an+ 12)
n2ln+ 3 )valns 8)
(n+3)(n*+4)

12. 2x° + 5x* + 2x + 5

@Qx+ 5K +1)

Factor each polynomial by grouping and using opposites.
13.2y° — 4y + 6 — 3y 14. 4m® —12m® + 15 — 5m

(271'37 a2)+ (6 —3y)
ZyZ(L*Z)JrS(Lfy)
22 (Y —2)ran (Y —2)
22 (Y —2)-3(y-_2)

(r-2)(2y* - 3) (m - 3)(4m® - 5)
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Practice B
(%W Factoring by GCF

Factor each polynomial. Check your answer.

1. 8¢° + 7¢

c@Bc+17)

2. 3n° + 12n° 3. 15x° — 18x

3n’(n+ 4) 3x(5x* — 6)

4. —8s" +20t° — 28

4(-25s" + 5 - 17)

5. 6n° + 18n" — 24n 6. —5m* — 5m°® + 5m*

6n(n® + 3n° — 4) 5m*(—m® — m+ 1)

N

®

A ball is hit vertically into the air using a paddle at a
speed of 32 ft/sec. The expression —16t° + 32t gives
the ball’s height after t seconds. Factor this expression.

168(—t + 2)

The area of Margo’s laptop computer screen is

12x* + 3xin?. Factor this polynomial to find expressions

for the dimensions of her computer screen.

Factor each expression.
9. 3m(m +5) + 4(m + 5)

(m+5)@m+4)

3xand4x +1

10. 16b(b — 3) + (b — 3)

(b—3)16h + 1)

Factor each polynomial by grouping.

1. 2x° + 8x% + 3x + 12

x+d2x* +3)

12. 4n° + 30 + 4n+ 3

@n+3)(n*+1)

13. 10d° — 6d + 35d — 21

Bd-3)@d+17)

14. 12n° — 15n° — 8n + 10

4n—-5)(3n%* - 2)

15. 56" —15b° + 3 - b

(h—3)(5p° 1)

16. £°— 5(° + 10 — 2t

(#-2)(t-5)

Copyright © by Holt, Rinehart and Winston.
All rights reserved.

12 Holt Algebra 1

Practice C
(%W Factoring by GCF

Factor each polynomial. Check your answer.

1. 8x* — 12x* 2. —12ab°® + 20b 3. 16m” — 2n° + 30m
4x*(2x* - 3) 4b(-3ab® + 5) 2(8m* — n® + 15m)
4. 27j* — 72/° + 9f 5. —5x° + 35x* — 30x° 6. 16x°y+16x°y* + 32x°y?
9i(3° -8 +1) —5x°(x* = 1x + 6) 16x°y(x* + y° + 2xy)
7. The expression used for finding the surface area
of a cylinder is 2mr* + 2mrh. Factor this expression. 27r(r + h)
8. The area of a hallway rug is %xz + %xﬂz. Factor
this polynomial to find expressions for the dimensions 1x and 3x + 1
of the rug. 2
Factor each expression.
9. 10(k—2) + 7k(k — 2) 10. 9m*(m+7) + 5(m+7)

k—2)A0 + 70 (m+1)O@Om* +5)

Factor each polynomial by grouping.
1.2t +66°+t+3 12. 3n* + 2n° — 150 — 10

@3n+2)(n* - 5)
—28n° — 14 + 10n° + 5n°

t+3)@2F +1)
13. 12a° + 30a — 14a — 35 14.

(6a — 7)(2a + 5) (2n* + 1)(50° — 14)
15. 36" — 24b° + 8 - b 16. 3x° — 12x° + 20 — 5x

B -1 -18) (x—4)(3x*—5)
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Reteach
(%W Factoring by GCF

3x(4x® + 7x + 5)

Check:

(x — 3)(5 + 4x)

The Distributive Property states:

AN
alb+c)=ab+ ac

Factoring by GCF reverses the Distributive Property:

ab + ac = a(b + c)

Factor 12x® + 21x* + 15x. Check your answer.

Step 1: Find the GCF of all the terms in the polynomial.
The factors of 12x° are: 1, 2, 3, 4, 6, 12, X, X, x
The factors of 21x are: 1,3,7,21, x, x
The factors of 15x are: 1, 3, 5, 15, x

Step 2: Write terms as products using the GCF.
12x° + 21x* +  15x
@x)4x" + @BX)7x + (3x)5

Step 3: Use the Distributive Property to factor out the GCF.

The GCF is 3x.

3@) =12x° + 215" + 15x ¥
Factor 5(x — 3) + 4x(x — 3).
Step 1: Find the GCF of all the terms in the polynomial.
The factors of 5(x — 3) are: 5, (x — 3)

The factors of 4x(x — 3) are: 4, x, (x — 3)

} The GCF is (x — 3).

The terms are already written as products with the GCF.

Step 2: Use the Distributive Property to factor out the GCF.

Factor each polynomial.
1. 20x* — 15x

5x(4x —3)

2. 442% + 11a 3. 24y — 36x

11ada+ 1) 12(2y — 3x)

Factor each expression.
4. 5x(x +7) +2(x+7)

x+1)Bx+2)

5.3ala+4) —2(a+4) 6. 4y(4y +1) + (4y + 1)

(a+8)Ba-2) 4y +1)?
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